

level of significance $\chi_j^2 \geq \chi_{1-\alpha;1}^2$ otherwise H_0 is accepted where $\chi_{1-\alpha;1}^2$ is obtained from an appropriate chi-square table with 1 degree of freedom at level of significance.

Of greater interest however is testing the null hypothesis H_0 that patients or subjects who take treatment T_1 first have the same positive response rate as patients who take treatment T_2 first. This is equivalent to testing the null hypothesis

$$H_0 : \pi_1^+ - \pi_1^- = \pi_2^+ - \pi_2^- \text{ or } (\pi_1^+ - \pi_1^-) - (\pi_2^+ - \pi_2^-) = 0$$

vs

$$H_1 : (\pi_1^+ - \pi_1^-) - (\pi_2^+ - \pi_2^-) \neq 0 \tag{17}$$

The null hypothesis may be tested using the test statistics

$$\chi^2 = \frac{(W_1 - W_2)^2}{\text{Var}(W_1 - W_2)} = \frac{(n_1(\hat{\pi}_1^+ - \hat{\pi}_1^-) + n_2(\hat{\pi}_2^+ - \hat{\pi}_2^-))^2}{\text{Var}(W_1 - W_2)} \tag{18}$$

Which under H_0 has a chi-square distribution with 1 degree of freedom for sufficiently large values of n_1 and n_2 where

$$\text{Var}(W_1 - W_2) = \text{Var}W_1 + \text{Var}W_2 - 2\text{cov}(W_1, W_2) \tag{19}$$

Now

$$\begin{aligned} \text{cov}(W_1, W_2) &= E(W_1 W_2) = E(W_1)E(W_2) \\ &= E \sum_{r=1}^{n_1} \sum_{s=1}^{n_2} U_{r1} U_{s2} - E \sum_{r=1}^{n_1} U_{r1} E \sum_{s=1}^{n_2} U_{s2} \\ &= \sum_{r=1}^{n_1} \sum_{s=1}^{n_2} E(U_{r1} U_{s2}) - \sum_{r=1}^{n_1} E(U_{r1}) \sum_{s=1}^{n_2} E(U_{s2}) \end{aligned}$$

Now $U_{r1} U_{s2}$ can only assume the values 1, 0 and -1. It assumes the value 1 if U_{r1} and U_{s2}

sufficiently large n_1 and n_2 . The null hypothesis of equation 17 is rejected at the α level of significance if $\chi^2 \geq \chi_{1-\alpha,1}^2$.

Otherwise the null hypothesis is accepted. Also the test statistic of equation 22 may equivalently be expressed in terms of sample proportions as:

$$\chi^2 = \frac{n_1 n_2 \left((\hat{\pi}_1^+ - \hat{\pi}_1^-) - (\hat{\pi}_2^+ - \hat{\pi}_2^-) \right)^2}{n_2 \left(\hat{\pi}_1^+ + \hat{\pi}_1^- - (\hat{\pi}_1^+ - \hat{\pi}_1^-)^2 \right) + n_1 \left(\hat{\pi}_2^+ + \hat{\pi}_2^- - (\hat{\pi}_2^+ - \hat{\pi}_2^-)^2 \right)}$$

